
Subject: Re: Problem with Geane (Error in "runRECO2.C")
Posted by Lia Lavezzi on Wed, 30 Jan 2008 13:48:59 GMT
View Forum Message <> Reply to Message

Hi Aleksandra and all others,
  actually the line: xc = xc - s is wrong. It should be xcrot = xcrot - s. I just uploaded a corrected
version of PndSttHelixTrackFitter.cxx on the svn repository, so you only have to update your stt
directory to get it.
Sorry for the bug, and thank you for pointing it out.

Since s = 0.001, so it is very small, you will obtain almost the same results with the new
corrected code and with your present code where you commented the wrong line out.

          Hope everything works fine,
                                Ciao,
                                 Lia.
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